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BX3—2 BEWICHERTHLEESNSHRICET SFE1/2) _ _ _ i REEE | P67
SERMOMNE | BAES 17481044 E T4 \ N | PFRTEHh | A AR A R
) SMERH O TinICHET 511 SfERHA
ﬁ% TEREOBHOEILADKRES TREDOHBEBSSLODKRES TREOBBOESILADKRES TREDHBESILNDKRES
; 100kN/mM#Z#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/mM%# %3 — -~ — —|3mZE#BZ % -~ — — —
znLst 1.00 | 0.00 ~ 548 6841 | FhS | 000 ~ 548|173 927 Fh s 1.00 | 5.00 ~ 6.00 6841 | #nLS | 65,00 ~ 6.00)]1.73 927
P 100kN/mM#Z#B% % — -~ - —|3mZEEZB| — ~ — — — | 100kN/m%# %3 — -~ — —|3mZE#BZ % -~ — — —
znLs 1.00 | 000 ~ 774 99.36 | #hst 000 ~ 774|217 11.63 Zhn s 1.00 | 5.00 ~ 1042 99.536 | =nLS | 5,00 ~ 1042217 11.63
3 100kN/m#%i#B2%| 1.00 | 000 ~ 087 11299 |3mZEBZB| — ~ — — — | 100kN/m%#BZ25 | 1.00 | 1060 ~ 1329 112.99 |3mZEBZ3 -~ — — —
Zhn s 1.001087 ~ 865 100.00 | ThLs | 000 ~ 865|213 11.39 ZhnLs 1.00 | 5.00 ~ 1060| 100.00| FnLs | 500 ~ 1329|213 11.59
4 100kN/m#%i#B2%| 1.00 | 000 ~ 065 109.70 |3mEBZB| — ~ — — — | 100kN/mi%E#BZ5% | 1.00 | 11.15 ~ 1341 109.70 |3m%iBA5 -~ — — —
Zh s 1.00 | 065 ~ 844 100.00 | #nst | 000 ~ 844|203 10.87 ZhnLs 1.00 | 500 ~ 11.15| 100.00 | FhLs | 5,00 ~ 1341|2.03 10.87
5 100kN/m#%#BZ2%| 1.00 | 000 ~ 069| 110.26 |3mZEBZB| — ~ — — — | 100kN/mi%E#Z5 | 1.00 | 11.01 ~ 1333 110.26 |3mEiBZ5 -~ — — —
Zhn s 1.001069 ~ 847 100.00 | ThLs | 000 ~ 847|205 10.96 zhnLs 1.00 1500 ~ 1101 100.00 | =nLS | 5.00 ~ 13.33] 2.05 10.96
g 100kN/m#%i#B2%| 1.00| 000 ~ 089| 11334 |3mZEBZB| — ~ — — — | 100kN/m%E#BZ5 | 1.00 | 1081 ~ 1343| 113.34 |3mEHEZS -~ — — —
Zhn s 1.001089 ~ 868 100.00 | Ths | 000 ~ 868|231 12.36 zhLst 1.00 1500 ~ 1081 100.00 | =S | 5.00 ~ 1343 2.31 12.56
- 100kN/m#%i#B2%| 1.00 | 000 ~ 093 11397 |3mZEBZZ| — ~ — — — | 100kN/m%E#BZ25 | 1.00 | 1079 ~ 1354 11397 |3mZEBZ3 -~ — — —
zhLs 1.001 093 ~ 872 100.00 | Ths | 000 ~ 872|230 12.33 LS 1.00 | 5.00 ~ 1079 100.00 | FhLs | 500 ~ 1354| 2.30 12.33
g 100kN/m#%#EZ2% | 1.00 | 000 ~ 1.04 115.58 |3mZE#BZBH| — ~ — — — | 100kN/MiZ#BZB | 1.00 | 1054 ~ 1375| 115.58 |3mEEZ5 -~ — — —
zhLs 1.00 ] 1.04 ~ 882| 100.00 | ThUs | 000 ~ 882|216 11.58 LS 1.00 | 5.00 ~ 1054 100.00| F=ns | 500 ~ 1375|2.16 11.58
9 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3m%EiEZS -~ — — —
Zh st 1.00 | 0.00 ~ 6.00 75.14 | FhS | 000 ~ 600|274 14.66 Zh st 1.00 1500 ~ 1017 75.14 | TS | 5.00 ~ 1017|274 14.66
10 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %% — - ~ — —|3m%EiEZ S -~ — — —
Zh st 1.00 | 0.00 ~ 463 57.72 | Fhst | 000 ~ 0.00]| 1.60 8567 ThLs 1.00 1500 ~ 5.00 57.72 | FnLS | 500 ~ 5.00 | 1.60 857
17 100kN/m%#EZ2%| 1.00 | 000 ~ 211 132.65 |3mZE#BZBH — ~ — — — | 100kN/m%E#BZ% | 1.00 | 1062 ~ 1848| 132.65 |3mEREZD -~ — — —
Zzh st 1.00 | 211 ~ 989| 100.00| Tns | 000 ~ 989|245 13.11 zh st 1.00 ] 5.00 ~ 1062| 100.00| ThLS | 500 ~ 1848|2.45 13.11
12 100kN/m%#B=2% | 1.00 | 000 ~ 1.15 117.29 |3mx#ZD| — ~ — — — | 100kN/m%E#B25 | 1.00 | 11.51 ~ 1526 117.29 |3mZEiBZ% -~ — — —
Zzh st 1.00 | 115 ~ 893| 100.00| T4 | 0oo ~ 893|263 14.07 zh st 1.00 ] 500 ~ 1151 100.00| FnLst | 500 ~ 1526| 2.65 14.07
13 100kN/m%#B2% | 1.00 | 000 ~ 1.42 121.62 |3mEEZD| — ~ — — — | 100kN/M%#BZ5 | 1.00 | 11.20 ~ 17.51 121.62 |3m%iBAS -~ — — —
Zzh st 1.00 | 1.42 ~ 921 100.00 | #hLlst | 000 ~ 9.21] 220 11.77 zh st 1.00 ] 500 ~ 1120 100.00| TSt | 500 ~ 1731|220 11.77
14 100kN/m#%i#B2%| 1.00| 000 ~ 120 11813 |3mZEBZZ| — ~ — — — | 100kN/m%E#B25 | 1.00 | 1093 ~ 1468 11813 |3mE#BZ% - ~ — — —
Zzh st 1.00 | 1.20 ~ 899| 100.00| Ths | 000 ~ 899|233 12.49 Zh st 1.00 ] 5.00 ~ 1093| 100.00| FnLs | 500 ~ 1468| 2.35 12.49
15 100kN/m%Zi#BZ2% | 1.00 | 000 ~ 2380| 13585 |3mEBZZ| — ~ — — — | 100kN/m%E#BZ2% | 1.00 | 1067 ~ 1966 135.85 |3m&EBZ% - ~ — — —
znLs 1.00 | 230 ~ 10.09 100.00 | FhLs | 000 ~ 1009 247 13.21 ZznLs 1.00 | 6.00 ~ 10.67 100.00 | =nRS | .00 ~ 1966 2.47 13.21
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SEMMOMNE BRTES | 17481044 | E T4 \ N | PFRTEHh | A AR A R
) SMERH O TinICHET 511 SfERHA
ﬁ% TEREOBHOEILADKRES TREDOHBEBSSLODKRES TREOBBOESILADKRES TREDHBESILNDKRES
16 100kN/M%#82% | 1.00 | 0.00 ~ 248 138.77 |3mx#EZH| — ~ — — — | 100kN/m%E#BZ% | 1.00 | 10.79 ~ 20.94 138.77 |3m%iBA S -~ — — —
znLst 1.00 | 248 ~ 1026 100.00 | EnS | 0.00 ~ 1026 2.85 16.27 ZznLst 1.00 | 5.00 ~ 10.79 100.00 | =N | 65,00 ~ 2094| 2.85 15.27
17 100kN/M%#82% | 1.00 | 000 ~ 226 1356.16 |3mx#EZH| — ~ — — — | 100kN/mMi%#BZ% | 1.00 | 1056 ~ 19.42| 135.16 |3mEHEZS -~ — — —
znLs 1.00 | 226 ~ 1004 100.00 | #nRS | 0.00 ~ 1004| 2.42 12.94 ZznLst 1.00 | 5.00 ~ 10.56 100.00 | =N | .00 ~ 1942|242 12.94
18 100kN/m#Z#8Z25| 1.00| 000 ~ 154 123.42 |3mZEBRB| — ~ — — — | 100kN/m%ZE#BZ5 | 1.00 | 1053 ~ 1567 12342 |3mZEBZ3 -~ — — —
Zhn s 1.00] 154 ~ 932 100.00 | ThLs | 000 ~ 932|239 12.78 ZhnLs 1.00 | 5.00 ~ 1053 100.00| FhLs | 500 ~ 1567| 2.39 12.78
19 100kN/m#%i#B2%| 1.00 | 000 ~ 020 10291 |3mZEBZB| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 11.2¢ ~ 11.88| 10291 |3m%EiBZ5 -~ — — —
Zh s 1.00 | 020 ~ 798 100.00 | =nLst | 000 ~ 7.958]2.02 10.82 ZznLst 1.00 | 5.00 ~ 1124 100.00 | #nS | .00 ~ 11.88| 2.02 10.82
20 100kN/m#Z#8Z25| 1.00| 000 ~ 0.74 110.99 |3mZE#BZH| — ~ — — — | 100kN/m%Z#BZ5 | 1.00 | 1058 ~ 1268 110.99 |3mZE#BZ3 -~ — — —
Zhn s 1.001 074 ~ 852 100.00| Thbs | 000 ~ 862|224 11.98 zhnLs 1.00 | 5.00 ~ 1058 100.00| Fhs | 500 ~ 1268| 2.24 11.98
27 100kN/mM%Z#BZ % — -~ = —|3mZEBZZ| — ~ — — — | 100kN/M%Z#BZ% — -~ — —|3mZE#BZ3 — ~ — — —
Zhn s 1.00 | 0.00 ~ 757 96.85 | =ns | ooo ~ 757|212 11.35 ZznLst 1.00 |1 6.00 ~ 10.06 96.85 | =N | 5,00 ~ 1006)2.12 11.35
29 100kN/m#%#BZ % — -~ = —|3mZz#BZB| — ~ — — — | 100kN/mM%# %5 — -~ — —|3m%EiEZ S -~ — — —
zhLs 1.00 | 0.00 ~ 758 97.09 | ThLs | 0.00 ~ 7.58| 2.00 10.72 zhLs 1.00 | 500 ~ 1082 97.09 | #nLSY | 5,00 ~ 1082 2.00 10.72
23 100kN/m#%i#B2%| 1.00| 000 ~ 080 111.98 |3mEBZZ| — ~ — — — | 100kN/mi%#Z25 | 1.00 | 11.43 ~ 1450| 111.98 |3mEEEZ5 -~ — — —
zhLs 1.001 080 ~ 859 100.00 | ThLs | 000 ~ 859|200 10.73 zhLs 1.00 | 5.00 ~ 11.43| 100.00| Fhs | 500 ~ 1450\ 2.00 10.73
24 100kN/m#%i#B2%| 1.00 | 000 ~ 072 110.80 |3mZEBZZ| — ~ — — — | 100kN/mi%#Z25 | 1.00 | 11.33 ~ 1400| 110.80 |3m%EEEZ5 -~ — — —
zhLs 100|072 ~ 851 100.00 | #npust | 0.00 ~ 851|201 10.77 LS 1.00 | 5.00 ~ 11.33| 100.00 | =ns | 500 ~ 1400 2.01 10.77
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEBERD ~
zhLs ~ zhst ~ zhLs ~ ZhLsn ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/M%Z#BZ % ~ ImEBEZD ~
ZNLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
NS ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZnLs ~ ThLLst ~ LS ~ K o0)) ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#B 2.5 ~ ImEBZD ~
ZNLs ~ ThLLst ~ LS ~ Zhn st ~
100kN/m#%#BZ % ~ ImEFEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ TS ~ Zh s ~




